Installation Instructions

Door Surround Kit

MBestorP

Vehicle Application:

«Jeep Wrangler Unlimited
2007 — Current

Part Number: 55011
Compatible with 56823 Trektop NX, 52584 Safari Bikini and 90031 Duster

OISIOJC)

#2

1/12 Hour 1 - Easy
Phillips Safety
Screwdriver Glasses

é Safety glasses should be worn at all
times while installing this product.

m This product is designed primarily to enhance the appearance of the vehicle and to shield the occupants from ordinary weather conditions. Do
not rely in any way on the components of this product to contain occupants within the vehicle, or to protect against injury or death in the event of an accident.
This product will not protect the occupants from falling objects. Never operate the vehicle in excess of manufacturer’s specifications.
WEAR SEAT BELTS AT ALL TIMES
Read and follow, precisely, all installation instructions provided when installing product. Failure to do so may result in a poor fit and could place occupants of the
vehicle in a potentially dangerous situation.




Door Surround Kit Installation Instructions

Parts List and Hardware Identification

[

Front Door Rail - Right.,
Qty - 1, Part Number 479.86

[ Rear Door Rail - Left.,
Qty - 1, Part Number 479.89

L2
—————

[ Rear Door Rail - Right.,
Front Door Rail - Left., Qty - 1, Part Number 479.88

Qty - 1, Part Number 479.87

Tailgate Bar, Qty - 1,

Part Number 489.46 M8 x 75mm Knob,

Qty - 4, Part Number
478.90

O

M8 x 30mm Knob,
Qty - 2, Part Number
480.22

Rear Top Arch, Qty - 1,
Part Number 483.27

Tailgate Bar Mount-Right,
Qty - 1, Part Number 488.46

Tailgate Bar Mount-Left,
Qty - 1, Part Number 488.47

) (€

M5 x 16 Screw, Qty - 4,
Part Number 459.45

: @.0

M5 Lock Nut, Qty - 4,
Part Number 308.62

Front Top Arch, Qty - 1,
Part Number 483.24

O
Cable Guide Bracket -
Right, Qty - 1, Part
Number 482.82

Cable Guide Bracket -
Left, Qty - 1, Part
Number 482.83

Mount Cable Guide Brackets
to Rear Door Rails

Mount the Right Cable Guide Bracket to the Right Rear Door Rail with two (2)
M5 x 16 Screws and M5 Lock Nuts. Repeat with the Left Rear Door Rail.

M5 x 16 Screws and
) M5 Lock Nuts
Right Cable
Guide Bracket

Right Rear—/
Door Rail

e Install Rear Door Rail

Locate the left and right Rear Door Rail. Insert the pin in the bottom of the Door
Rail into the hole in the belt rail behind the door.

Place an M8 x 75mm Knob through the tab on the Door Rail and tighten.

Right Rear Door
Surround

Right Rear Door
Surround

View from Inside Vehicle
Passenger Side Shown

View from Outside Vehicle




BESTOP DOORS

Door Surround Kit Installation |

nstructions

e Install Front Door Rail

Place the Front Door Rail above the door opening.

Right Front Door
Surround

Sport Bar

Passenger Side Shown

o Install Tailgate Bar Mounts

Locate the left and right Tailgate Bar Mounts. Orient
them on the vehicle. Hook the bottom of one mount
under the belt rail and roll it toward the inside of the
vehicle until it clips into place. Repeat this with the
other Tailgate Bar Mount.

Install an M8 x 75mm Knob at the front of the rail
and an M8 x 30mm Knob in the center.

View from Inside Vehicle

Insert one end of the Front Top Arch in to the slot in
the middle of one of the Front Door Rails. Push the
other end inward to flex the bow and insert it into the
slot on the other side of the vehicle.

Repeat with the Rear Top Arch.

o Secure Tailgate Bar

Slide the Tailgate Bar into the Tailgate Bar Mounts
on each side of the tailgate opening.

Tailgate Bar

Tailgate Bar
Mount

CAR DOORS


http://www.carid.com/doors.html
http://www.carid.com/bestop/

